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8 3 (Artin, Chapter 14, 1.2). %X V LA N REE 24, 4B Hagis
A A ik, RV EAELEIAN kA0 QAL H, WA Q4%
s —

B 4. T AedR F R P IRECE ke B, TR o
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2. (M, TRR) HATIEAT 2
—d =5,6,10,13,15,22,35,37,51,58,91,115, 123,187, 235, 267, 403, 427,

R o9 %4 (BF0E h(d)) & 2. FPERT d= -5 vAIbag—A BT
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LAERTE alb, A s(a) <s(b). (1)
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1. iE7 s(a) > s(1).
2. BERALE a & by EFETFE, A s(a) < s(b).
3. iE8] s(a) = s(1) ¥ HILY a £RETHA,

4B R TRM. B oa RELEATES s(a) b E, M a BT
YA R/(a) 85545 oy RAHTAM 0 SFH T ATEL,
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FRR ED, L&IAZ PID i R BRI EHIFA ED.

8 7 (Artin Chapter 13, 5.2). Let 6 = /=3 and R = Z[0]. This is not the

ring of integers in the imaginary quadratic number field Q[0]. Let A be the
ideal (2,1 +90).

1. Prove that A is a mazximal ideal, and identify the quotient ring R/A.

2. Prove that AA is not a principal ideal, and that the Main Lemma is

not true for this ring.

3. Prove that A contains the principal ideal (2) but that A does not divide

(2).

i 8 (Artin Chapter 13, 6.7). Suppose that d < 0 = 2 or 3 modulo 4, and
that a prime p # 2 does not remain prime in R = Z[\/&] Let a be an integer
such that a®> = d modulo p (or we can say d is a quadratic residue modulo

p). Prove that (p,a + ) is a lattice basis for a prime ideal that divides (p).
W 9. 1. Z[V/-5] PiemAEREMA [ = (2,1+/-5) i#HE =1,
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p=a+50% Sk p=a?+50%, (7 FIAN—M, WA Z[V-5] kB
B9LEM.) R ey Tk Ak Al ket p=1,3,7,9 mod 20.



